Bid #743-11322 - Daily Maintenance Services - Sistrunk Boulevard

Creation Date Oct 31, 2013 End Date Feb 28, 2014 2:00:00 PM EST

Start Date Feb 5, 2014 1:50:36 PM EST Awarded Date Not Yet Awarded

743-1132201-01 Daily Maintenance for Sistrunk Blvd.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$30.00	365 / each	\$10,950.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
MCT Service, LLC	First Offer - \$64.99	365 / each	\$23,721.35		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Lawn Wizard USA, Inc.	First Offer - \$95.00	365 / each	\$34,675.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Toilet Taxi Of South Florida	First Offer - \$147.00	365 / each	\$53,655.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
xtreme lawn and landscape corp [Ad]	First Offer - \$161.00	365 / each	\$58,765.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Evergreen Cleaning Service	First Offer - \$164.3835	365 / each	\$59,999.9775		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

743-1132201- 02 Parcel 1 - Daily Ser	vice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$3.00	365 / each	\$1,095.00		Υ
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$4.00	365 / each	\$1,460.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$5.7951	365 / each	\$2,115.2115		Υ
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201- 03 Parcel 2 - Daily Service							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Toilet Taxi Of South Florida	First Offer - \$3.00	365 / each	\$1,095.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
xtreme lawn and landscape corp [Ad]	First Offer - \$4.00	365 / each	\$1,460.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Evergreen Cleaning Service	First Offer - \$4.6097	365 / each	\$1,682.5405		Υ		

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	

743-1132201- 04 Parcel 3 - Daily Se	rvice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$3.00	365 / each	\$1,095.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$4.00	365 / each	\$1,460.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$4.1567	365 / each	\$1,517.1955		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201- 05 Parcel 4 - Daily Ser	vice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$3.00	365 / each	\$1,095.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$4.00	365 / each	\$1,460.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$18.00	365 / each	\$6,570.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$23.7074	365 / each	\$8,653.201		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$7.8827	365 / each	\$2,877.1855		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	Alt 1 - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201- 07 Parcel 6 - Daily Ser	vice					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Evergreen Cleaning Service	First Offer - \$11.421	365 / each	\$4,168.665		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

743-1132201-08 Parcel 7 - Daily Ser	vice					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ	
		Supplier Product Code: Supplier Notes:				
Evergreen Cleaning Service	First Offer - \$2.9206	365 / each	\$1,066.019		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
xtreme lawn and landscape corp [Ad]	First Offer - \$3.50	365 / each	\$1,277.50		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

MCT Service, LLC	First Offer - \$9.00	365 / each	\$3,285.00		Υ
		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

743-1132201- 09 Parcel 8 - Daily Ser	vice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Evergreen Cleaning Service	First Offer - \$2.6776	365 / each	\$977.324		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.50	365 / each	\$1,277.50		Υ
		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$9.00	365 / each	\$3,285.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201- 10 Parcel 9 - Daily Service						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Toilet Taxi Of South Florida	First Offer - \$3.00	365 / each	\$1,095.00		Υ	
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:			
xtreme lawn and landscape corp [Ad]	First Offer - \$3.50	365 / each	\$1,277.50		Υ	
		Supplier Product Consumption Supplier Notes:	ode:			
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: 561-730 Supplier Notes:				
MyndFrame Group, Inc.	First Offer - \$11.00	365 / each	\$4,015.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Evergreen Cleaning Service	First Offer - \$12.532	365 / each	\$4,574.18		Υ	
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:			
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ	
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:			

743-1132201-11 Parcel 10 - Daily Se	erv	vice				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida		First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
xtreme lawn and landscape corp [Ad]		First Offer - \$3.75	365 / each	\$1,368.75		Υ

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$9.1201	365 / each	\$3,328.8365		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$11.25	365 / each	\$4,106.25		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201-12 Parcel 11 - Daily Se	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Evergreen Cleaning Service	First Offer - \$2.6341	365 / each	\$961.4465		Υ
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:		
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$9.00	365 / each	\$3,285.00		Υ
Product Code: Agency Notes:		Supplier Product Consumption Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:		

743-1132201-13 Parcel 12 - Daily Se	rvice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Evergreen Cleaning Service	First Offer - \$9.5409	365 / each	\$3,482.4285		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	=>411151	

743-1132201-14 Parcel 13 - Daily Se	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$11.2511	365 / each	\$4,106.6515		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

743-1132201-15 Parcel 14 - Daily Se	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$14.8006	365 / each	\$5,402.219		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201-16 Parcel 15 - Daily Se	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$4.939	365 / each	\$1,802.735		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00	Υ	Υ

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

743-1132201- 17 Parcel 16 - Daily So	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Evergreen Cleaning Service	First Offer - \$1.2182	365 / each	\$444.643		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$5.00	365 / each	\$1,825.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

743-1132201-18 Parcel 17 - Daily Se	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Toilet Taxi Of South Florida	First Offer - \$2.75	365 / each	\$1,003.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
xtreme lawn and landscape corp [Ad]	First Offer - \$3.75	365 / each	\$1,368.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Evergreen Cleaning Service	First Offer - \$7.7786	365 / each	\$2,839.189		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lawn Wizard USA, Inc.	First Offer - \$8.00	365 / each	\$2,920.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$10.00	365 / each	\$3,650.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MyndFrame Group, Inc.	First Offer - \$12.00	365 / each	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MCT Service, LLC	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Supplier Totals

Toilet Taxi Of South Florida\$71,175.00(18/18 items)Bid ContactLouis OldoniAddress 2760 NW 55 CT

toilettaxicorp@gmail.com Ph 954-739-**1099** Fax 954-739-1049 Ft Lauderdale, FL 33309

Qualifications	DBE MBE SB WBE		
Agency Notes	s:	Supplier Notes:	
CREATIVE L	AWN MAINTENANCE, LLC	\$73,000.00	(18/18 items)
Bid Contact	David E Brown Jr. clm.greenergrass@gmail.com Ph 954-868- 8001	Address 2900 N.W. 6th Ct. Pompano Beach, FL 33069	
-	DBE MBE SB		
Agency Notes	S:	Supplier Notes:	
MyndFrame	Group, Inc.	\$74,916.25	(18/18 items)
Bid Contact	Pierre Prime pprime01@gmail.com Ph 754-273- 5498	Address 6131 buchanan st hollywood, FL 33024	
Qualifications	SB		
Agency Notes	s:	Supplier Notes:	
xtreme law	n and landscape corp [Ad]	\$82,125.00	(18/18 items)
Bid Contact	louis oldoni xtremelawnandlandscape@gmail.com Ph 954-675- 4815	Address 2760 nw 55th court fort lauderdale, FL 33309	
Qualifications	SB		
Agency Notes	s:	Supplier Notes:	
		Cappillar restor.	
Lawn Wizar	d USA, Inc.	\$84,315.00	(18/18 items)
	d USA, Inc. John Longo john@waterwizardusa.com Ph 866-928- 3720 Fax 954-946-4769	• •	(18/18 items)
Lawn Wizar Bid Contact	John Longo john@waterwizardusa.com Ph 866-928- 3720	\$84,315.00 Address 4406 NE 6th Ave	(18/18 items)
Lawn Wizar Bid Contact	John Longo john@waterwizardusa.com Ph 866-928- 3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE	\$84,315.00 Address 4406 NE 6th Ave	(18/18 items)
Lawn Wizar Bid Contact Qualifications	John Longo john@waterwizardusa.com Ph 866-928- 3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE s:	\$84,315.00 Address 4406 NE 6th Ave Oakland Park, FL 33334	(18/18 items)
Lawn Wizar Bid Contact Qualifications Agency Notes MCT Service Bid Contact T	John Longo john@waterwizardusa.com Ph 866-928- 3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE s:	\$84,315.00 Address 4406 NE 6th Ave Oakland Park, FL 33334 Supplier Notes:	
Lawn Wizar Bid Contact Qualifications Agency Notes MCT Service Bid Contact T	John Longo john@waterwizardusa.com Ph 866-928-3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE s: e, LLC Tammy Buffington mymct@aol.com Ph 305-370-9995	\$84,315.00 Address 4406 NE 6th Ave Oakland Park, FL 33334 Supplier Notes: \$107,671.35 Address 12478 SW 54 St	
Lawn Wizar Bid Contact Qualifications Agency Notes MCT Service Bid Contact T	John Longo john@waterwizardusa.com Ph 866-928-3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE s: e, LLC Tammy Buffington mymct@aol.com Ph 305-370-9995	\$84,315.00 Address 4406 NE 6th Ave Oakland Park, FL 33334 Supplier Notes: \$107,671.35 Address 12478 SW 54 St Miramar, FL 33027	
Lawn Wizar Bid Contact Qualifications Agency Notes MCT Service Bid Contact r F Agency Notes Evergreen (Bid Contact	John Longo john@waterwizardusa.com Ph 866-928-3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE S: e, LLC Tammy Buffington mymct@aol.com Ph 305-370-9995 s: Cleaning Service Octavia Mills evergreencleaningservice@hotmail.com Ph 954-559-6385	\$84,315.00 Address 4406 NE 6th Ave Oakland Park, FL 33334 Supplier Notes: \$107,671.35 Address 12478 SW 54 St Miramar, FL 33027 Supplier Notes:	(18/18 items)
Lawn Wizar Bid Contact Qualifications Agency Notes MCT Service Bid Contact Tr F Agency Notes Evergreen (John Longo john@waterwizardusa.com Ph 866-928-3720 Fax 954-946-4769 DBE DBE MBE MBE SB WBE WBE S: e, LLC Tammy Buffington mymct@aol.com Ph 305-370-9995 S: Cleaning Service Octavia Mills evergreencleaningservice@hotmail.com Ph 954-559-6385 MBE SB	\$84,315.00 Address 4406 NE 6th Ave Oakland Park, FL 33334 Supplier Notes: \$107,671.35 Address 12478 SW 54 St Miramar, FL 33027 Supplier Notes: \$109,999.6485 Address 5430 Flagler Street	(18/18 items)

**

No Bids

AQUATIC VEGETATION CONTROL, INC Our company does not provide these types of services. We provide herbicide ground application for both exotics and aquatics.